EARAROBREBRT —5 XN—ZXBISH—F

20224638208 (B) 1ERR#12H

R PEEXY:

KREEF FSiin

BRI

[x&%] 1 7&:5,200,000 @ .~ 23&:2,100,000 @ 3 & :1,300,000 M

/4375 :780,000 5 37&:520,000 F

B RS RS M MHE BF (F8) 4L (EE) | @BIEMI | £3F |SEH | AR | #E | BREN FR) / BE / £ERS

118l 7UF7O—UF72 i3 goé%()ﬁ%’sf 1:(2_4).9 5-4 37.4] 885 | 1 fzg)z '%(1;)%25%3)5
RiZ2bOVIUT—Y H:URSVIIVR #HeI7—L

o = BHE : . B

21510/ FH/TURFIL 3 59_%5% 1.(235).4 56 379|841 | 4 z:;;t ﬁggat &)
RiRLT#Y B:IA/Fv VR BREMHEIN/ T7—L

3/815| Yy F—VAAT S (e 0 I b Rl e (5_%4) B A AT U
R:AN/UwF— §:50YvU—T3R IR e

alslo|v—=Lrxs # o3 | EEE 1(;32/54.)3 -1 [38.9]80.9 | 9 5(2? Rﬂf%g%f{)yd
REFE-UR B:OAVILTIVT INTT7—1

5 gl gV /=29 — i3 gﬁ)ﬁﬂ 1:(226).1 7-6 38.4|78.0 | 5 | 466 g*ﬁz ER)
RYZRAI—ZZRY— B:TFALET— D =5l

6112 |YIFPAYaFTILR "3 :’:IZE‘(J){&e 1(:12/62')2 ne | B1 7008 (4_75) gf?%lj??ﬁ—l (#)
RiUAVF4—X B:RU—LPZRU—LA BRI 7—L

21111 | 7L=—7 4 3 ﬁﬁﬁ*ﬂ 1(:32/64.)3 3-4 39.1| 76.6 | 3 (4_722) *“(%ﬁi 1%f)w}_b
RFVIAANAN :TOFITST IV Tr—L
I /IRART—IL [B] # 3 %%Eﬂf 1(;32/54.)5 9-8 |38.6| 746 | 7 zzg)a %ﬁg% ER)
RiN—EYIv— B:ZY/Z59) A—RS—JZIY R
Y-GS A i3 | FAH 1:(26).8 1212 [38.5] 71.9 | 16 | 466 %ggg &)

. 2

RinZ—E1-Z BAL/ETTY O | ==l
IST—9 43 # 3 | BAR—S (12217/22) 16-15 |38.4] 68.2 | 6 (4_924; g*u#;?_(ﬁﬁ)
RiPAUNYRA FUAY b BAEUPIAT— BERERRS
PO ISES # 3 %gl?g;ﬁj (11:237/.‘3 9-11  |39.5| 66.8 | 11 1:2;1 QEEK@%
Ri*XAvavR—5— B:7ITZRAIE— F5EHERNE
XALY3aVASY # 3 | Bk 1;(253).3 222 | 41.3] 624 | 15 zg)a ﬁﬁ%mﬁé (€3]
RS/ ILITVR BFIYIITY FRAUHSRYUS
SOy — T # 3 | HPE 1:28.3 7-9 | 40.5] 61.4 | 14 | 446 |TRIIEZ (RR)
FrSOv—EITV 0 15 (-4) Hi;r:RockRacingﬂi—)bj_-"
RE-UR B:O0-FvR INIT7— L\
ESVAHY # 3 | JIsE= 1(9.??:;1 14-13 {39.9 | 59.8 | 10 Ezgs i@g?&:ﬂﬁﬁ)
RiUAVF4—X BLFIYIN-RF— PH R
EVYIUNUIVT # o3| AREC 1:(259).3 12413 |40.7 | 53.7 | 12 (1_122) Eﬁ%ﬁ% €3
RINZ—NDYR 8:0-T7FvT HSke
EXZ—/N— 7 3 | BEES 1:(31?)'0 1415 [41.3] 49.3 | 13 (4_822) ﬁiﬁ;iéﬁfzu-yxﬂ\
RiAASR=—5 B:HE7—U 2N 3

@5 1L

£B0 50.0-38.0

NOYIA L | 12.4-10.8-11.7-12.0-12.4-12.5-13.1

@ J1—JF—@BIRNI

13—7+—

20—7—

Ja=zr= (x9,11) (1,15) (10,16) (5,8) (7,13)2(6,14) (4,3)12

430—3— |9,11,15(1,16) (10,8)-7(5,2)13,6(3,14) (4,12)

@ ILRE

& s 16 290 | | DA R 10-16 440F3 | | = 5-8 510 | | 3&#& | 10-15-16 1,110M

& B 16 130M4 15-16 2101 | | &5 &= 10-16 1,340 | | 3:=& | 16-10-15 6,220/

10 170M 10-15 3BOH| | B E 16-10 2,060
15 120M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




